ERE29FEFEEE

AR S YREARSRIAYE

A )
FH 48 REEE FH L EEE | e
it 5,222,469 5,222,469 O| BT EEFE &> DD ik
& 900,000 921,000| 21.000]@3.,000 % 307 A
=i 600,000 614,000 14,000]@2,000 x 307 A
| FEEFE 39
FUTA 740 39 A 701
&5 6.723.209 6.757.508 34.299|
itﬁm%ﬂ - T — —
[aa T FEE KA | THILEde [E3
REERSEERR 0
o 230,000 237,997 7.997 HEP%%‘% Eég-ggg
WM 16,165
Al
EES 650,000 161.715|  A488.285 ﬁg;ﬁﬁ”ﬁ_ﬁ o 1‘;
. o
Wi 1,100,000 {100,000 0 ﬁ%gg%gj & 1.533'.333
SEHIE 0 0
¥ {iii £1 0 0
(&3 1.980,000] __ 1499712] __ A480.288]
IRAE& 6,757,508
—) ZHEE 1,499,712

DB BRI 5 o ONIRYT LR 7S L e LU

Tl 0% 5 A 4 H

5,257,796 (B EE ~fRiHd)

A L E T,

L/
[ 1




AgfE O EE (B H)
T2 E B F| R4 FEE R | R FEEF ERZ26FEE EREEEER 2T EE ER2TEER ERE2SEE FR28FE B R ERZOFEE ERL2OEER
Nol # % & @ P &F TS HES WES b Rk 5 TS b iRk EE TS L 2 WES b ik EE TS
1 FYEERTT EHAFE & 7955 130 7,959,585 7,961,501| (FriHFET) ol 7.963,088] (GrIRfE) ol 7967972 EREEIET) -7.967,972 o| (EiRiET) 0 0
(ER 145 48 1 HETE) (FE=FIE) 1,587 (FE&FIE) 4,884 (FE=F1E) (FE&FE)
3 FIIRITERIFERE (FhiRtgir) 0 o| GriRFEIL) 0 ol GRrEEIEIL) 7,967,972 17,967,972 (GHiIREI) ol 7,968,647
(ERiosETH 5 g (FEZFIE) (FEEFIE) (FEEFIE) (FEEFIE) 675
2 EIIRITERIFES 1,333,213 1,333,534 1,333,801 (FriHFET) ol 1,334,335] (GRIRfED) 0 1,334,618 (FRiRTET) 1,334,618 o| EriHFET) 0 0
(ERLTETH 4B%EE) (FE=F1E) 534 (FE2F1E.) 283 (FE=F1E) (FE&F1E)
3 EHiRT EHIFEE (FhiRfgir) 0 0| GR#IRTEIL) 0 0| GRERTEIL) 1,334,618] 1,334618] CGHiR#ET) 0 1,334,618
(ERiosETH AE %) (FE&FIE) (FEEFIE) (FEEFIE) (FEEFIE)
4| & Tz FEEiTET BT 4,801,760] 4,802,908| 4,803,865| (FriHIEIT) ol  4,804,822| (EFHIRFEIL) ol 4,807,702 (ERIRFEL) ol 4,808085| (EhIRFEIL) ol 4,808,851
(CERE10E3H 20 H R (FEZFE) 957 (FEEFI.E) 2 880 (FEZFIE) 383 (FEEFIE) 766
& & 14,090,103| 14,096,027 14,099,167 3,078] 14,102,245 8047 14,110,292 383 14,110,675 66| 14,112,116
X No.000Ria628 D00M7 PR L TS e B % 0T
B etE O TS (B )
F 20 B B | B4 | F o B 6 EE 6 FE o+ F T TRl ER* B EE F LS B R LI EE TR FER
Nol # % & & | =R WIES TS TS bR 5 HES b Rk EE HES FE L 2 WES b Rk HES
1 EIIRITEREIFES 806,780 806,974 807,135 (FriFHFEIL) 0 807,296] (EY 5§ ) -807,458 ol (EzER) o (H &) 0
CER1TETH 48378 (FEEFIE) 161 (FE&F1E) 162 (FE2F1E) (FE&FE)
& & 806,780 806,974 807,135 161 807,296 -807,296 0 0 0 0 0
B IRE SR OE ST PR R R BT S FETT ., No. 13400, 000 EE L TEE RS2 8T TT,
EIREEOHES (EL{7 1 H)
W R23 F E R| FR24 5 B R | A2 R B R ERH2FE TR FER TR2TEE FRCT R ER TR EE T R28F B R ER29FE FRH2IFER
Nol # ¥ & @ P =R H TS HES WES bRk S WES b iRk 2E /TS b RE 5 WIES b E BT
1 EHETERATEE 702,867 702,981 703,095 GhiRiEir) 0 703,210 GRiFiE) 0 703,325 GhIRiEL) 0 703,334 (ErIRFEIT) 0 703,340
(Y149 8 20 H #E5) (FE=FIE) 115 (FE2F1E.) 115 (FE=F1E) 9 (FE&F1E) 6
& &t 702,867 702,981 703,095 115 703,210 115 703,325 9 703,334 6 703,340
W No |EHRIET 100, 000 ER I TEERERTT,
B0l ESFEI T DTS (EL{7 )
EH2TEE LT R R FR28EE FR2EER ER29EE TERROFEER
Nol # ¥ & & P =R b IRk EH T S FeE L 5 WES bE Rk HE S
1 EHiRT EHIFEE (FriRfEiL) 1,000,000 1,000,000| (GERIRIEL) 1,000,000  2,000212] @ERiEiEr) 1,000,000 3,000,382
(ERoRET H 20 H E#EE) (FEF1E.) (FE=F1E) 212 (FEZ&F1E) 170
& Bt 1,000,000 1,000,000 1,000,212 2,000,212 1,000,170] 3,000,382
% B0R RS ERI TRSTERITRYTETT.
o g T O TS (B H)
2T EE ERZTEEFR ERF2eEE 2 FEEF ERZOFEE EFLOEER
Nol ##& 37 & @ [ &R HE L 2E T S HE IRE 2 WES b IRk EE S
1 EIIRITEHEIFES (FhiRfEL) 100,000 100,000 (FHiHFEL) 100,000 200,022 (FriR#EL) 100,000 300,040
CERL1TETH 4837 (FEEFIE) (FEEFIE) 22 (FEEFIE) 18
&5 &t 100,000 100,000 100,022 200,022 100,018 300,040




	kessanH29_01.pdf
	kessanH29_02.pdf

